A00W{RI AR & ‘ .
C FA1 EEHHl/1-axis p HENR P K

EEHSE - HEREHFRERTER

The picture is just for the reference. Please check the the actual dimensions on the drawing.
== =y ——— e
—ZNEi) 1200mm HTEdE 2000mm/s i ) aoow LS 22mm
Maximum Stroke Maximum Speed Motor Output Belt Width

RUSERT AT, Ordering Method

CFA12 - L40 - 100 - BL - T400W - C 4 - MB-3M

RESBISE =k TR
Model Lead Stroke
40 40mm 100-1200mm

H0RSBR 50 mm Pitch

SEGE ERTEEAE BFESE LE%@FEE%E ‘ﬁ%ﬁ%ﬁ@ﬁﬁ@%ﬁ?\%ﬁ HIERE

Motor Position Motorinstallation Motor Output Home Sensor Limit Sensor Motor Brand
BL RELIF T ERARERKIFE 100w - SHEEBY Out Side SMEBY Out Side MB-3M 2EW, BRRR=ZHF
Motor Left Side == i 200w - =1 313 BEH, BR3IK
Wik i == C| Motorsicie = rc FEWWESECRES
Ly Motor Left Upper Side BiE Delia 400W | 400W EEE 4 2R 2pc ZMB | s m -
LD BEATH | Rl veskowa D | Spposite Motor Side #& SENSOR No Sensor rTeEREFEHt==S
om0 EMllnowoce #& SENSOR NoSersor 5| S SENSOR hosernor  KMB | s @i By =%
BR| oo Right side || Z & ere E # SENSOR HEBHBABRET
7# _— No Sensor #If No Brake,NoB Description
RU BERLIF P M TRERRKIFE

Motor Right Upper Side  ——

BEATHR
RD Motor Right Lower Side

www.cf16.com




LRERNS 52400-716-8787

+0DC
T 5~24v

NIEBEEIRE Repeatability (mm) +0.04 N |

HETE
5 (41 ) |
B2 Lead (mm) 40 e

. I (ammu)
BESEE Moximum Speed (mm/s) 2000 o q Voltage ostput
I utpu
= TN Horizontal (k 25
%qugzg J\:F1§:Eﬁ (kg) T
Maximum Payload .
EE(ER Vertical (kg) S N, R 0. 4%)

,__'T%?Eﬂ 185 Acceleration and deacceleration value is set 0.4 second.
RE Rated Thrust (N)

HEIEET: 2.5

TEHEITIZ Stroke Pitch (mm)

100-1200mm/50f&PE 50 mm Pitch

AC{EH&%EE% AC Servo Motor Output (W) 400
FEEEE Belt Width 22

| —
| RS P
lelaly Home Sensor Outside

EE-SX674(NPN)
FC-SPX307Z-2M(NPN)

#EENRLRRED. 47 -
Acceleration and deacceleration value is set 0.4 second.

BrE#HIEER Allowable Overhang

B8 Stafic Loading Moment

A
B
[ A
c
B
(8457 Unit : mm) (BEfi7 Unit : mm) (227 Unit : N.m)
INFZEE | A B © BERZEE | A B © MY 606
Horizontal Installation| Wall Installationf
10kg 1885| 735 | 564 10kg 365 | 458 | 1280 MP 606
MR 1168
20kg 900 | 340 | 265 20kg 299 | 383 | 1009
25kg 703 | 303 | 206 25kg 206 | 263 | 703

#NERMTTEVEIE - (AREI

The torque value in the chart indicate the center of gravity.
Y EEIRREMESERT » REFJMARI0000RE -

Operation life is 10,000km when the product is using under the specified conditions.

*EDERIEAERIRER  IBTRESIHTHS -
Data information is not for ceiling-mount inverse use.

Contact us for the details if you want to apply ceiling-mount inverse usage.

EitEREE—EZ Svitable Motor Brand

TR RE BECR RERE BREE fEIARRSZERLR BEEN2ZBLSR
Brand Mark Watt AC-Voltage Motor Model Driver Model
== IRAEBOKTPHAR)

Mitsubishi i No Brake (Horizontal Type) 400 220 HG-KN43J-5100 MR-JE-40A
BT IR KPEHAR)

Panasonic P No Brake (Horizontal Type) 400 220 MHMFO42L1U2M MBDLN25SE
el T o TR B (ICREL 1) 400 220 ECM-B3M-C20604RST ASD-B3-0421-L

o Brake (Horizontal Type)

a42/v4d AdD/94D uonjea)ddy
BELE/W— | SRR/ | BEad /-

BEHRUR

sS4

|
=
N
bl
kS
b
B

EED] EED] 14D
BRI/ | B/ | HERE /W —

3dUdIdydY |LAX/SAX/DAX

B
1 axis

CFA

B



SBELLINIBER LR

Motor Left Upper Side / Motor Right U

pper Side

REMRISELR | AR

Toll-Free Number  China

400-716-8787

g R
q D EEEJ:;E Motor Left Upper Side Ecszj Ec‘fnj

TBERIABIR:67+1

Mechanical limit:67+1

L+3

BERER94 BHHTE

Onigin of actuator:194 Stroke 169
TREHAAERR: 89.75 £ 1 201.5
Mechanical limit: 89.75 +1

— 60
| TE ST e Teel ) ) o
=
=] ool o] ) T o =
2-96 H7V 10 8-M6x1.0v17

The Datum Plane

B Unit:mm\

The Datum Plane

8 41 M*100 A 46 Arl?z\/éew
TN-Max1.25W16+ﬂ6.8THR. T .
© s
~gl B View 5 88 The Datum Plane
oo X1
So
=
3 2-96 HTV 6 =
41.1.100£0.02 P
100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200
463 | 513 | 563 | 613 | 663 | 713 | 763 | 813 | 863 | 913 | 963 | 1013| 1063 | 1113 | 1163 | 1213 | 1263 | 1313 | 1363 | 1413 | 1463 | 1513 | 1563
100 50 100 50 100 50 100 50 100 50 100 50 100 50 100 50 100 50 100 50 100 50 100
2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10 10 " " 12 12 13 13
8 10 10 12 12 14 14 16 16 18 18 20 20 22 22 24 24 26 26 28 28 30 30
200 250 | 300 | 350 | 400 | 450 | 500 | 800 | 550 | 600 | 650 700 | 750 850 | 900 | 950 | 1000 1050 | 1100 | 1150 |1200 | 1250 | 1300
\ KG 6.34 | 670| 7.06 | 742 | 7.78 | 813 | 849 | 885 | 9.21 | 9.57 | 9.92 | 10.28| 10.64 | 11.00 | 11.36 | 11.71] 12.07 | 12.43 | 12.79 | 13.15 | 13.50 | 13.86 14.22/
/ H H ﬁfﬁunit:mm\
G D%EEL?& Motor Right Upper Side 2D 3D © CAD
cap_| | cap
L+3
TREHRRE194 BYITEE
Onigin of actuator:194 Stroke 169
TBEMMAEAR: 89.75+1 2015 AEHAMABEIR67+1
Mechanical limit: 89.75+1 Mechanical limit:67+1
T 7 22
jeme} jrem] O, 0 E‘T—\ ot
2-@6 H7 T 10 \8-M6 x1.0¥17
=T
120
L= =
- ]

41 M*100 A 46 o
- | = ew
‘j T N M8x1425V16+06.8THR\T LA 120
8 g g s (602003 60 |
—
IS 777
T8 &M
g L L J The Datum Plane I/%//j
~o| B View o lirsaeea
59 206 HTT 6 — [IM8x1.25%16 |
< 41.100+0.02 P
650 700 800 850 900 950 1000 1050 1100 1150 1200
£ 463 | 513 | 563 | 613 | 663 | 713 | 763 | 813 | 863 | 913 | 963 | 1013 1063 | 1113 | 1163 | 1213 | 1263 | 1313 | 1363 | 1413 | 1463[ 1513 | 1563
A 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100
M 2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10 10 " " 12 12 13 13
N 8 10 10 12 12 14 14 16 16 18 18 20 20 22 22 24 24 26 26 28 28 30 30
P 200 250 | 300 | 350 | 400 | 450 | 500 | 800 | 550 | 600 | 650 700 | 750 850 | 900 950 | 1000 1050 | 1100 | 1150 |1200 | 1250 | 1300
\ KG 6.34 | 6.70| 7.06 | 742 | 7.78 | 8.13 | 8.49 | 8.85 | 9.21 | 9.57 | 9.92 | 10.28)| 10.64 | 11.00 | 11.36 | 11.71] 12.07 | 12.43 | 12.79 | 13.15 | 13.50 | 13.86

14.22 /

uorjearjddy

A42/94D

B A /B | SER /B —

a42/v4d

A4D
BOE L/ —

N4>
HEHRUE

sS4

|
=
N
&
kS
b
B

EED] EED] 14D
B/ | R/

B/

3dUdIdydY |LAX/SAX/DAX

CFA12

B



CFA12 E#f/1-axis N

Built-in Guideway Belt Drive

BELISEERR

Motor Left Side / Motor Right Side

B Unit:mm\

( ’EEE?& Motor Left Side tcz::] cs:j (" « caomi

L+3
R IRE194 BHITHE
Onigin of actuator:194 Stroke 169 BRI 671
i :89.75+ 1 L2015 7 k07
ﬁ%ﬁ*ﬁﬁﬁg?gi?+ % Mechanical limit:67+1
| e & . 2
I
q PR <
n x| o oL
2-06 H7V10, 8-M6x1.0%17

The Datum Plane

A-A View
1 M*100 A__46 120
TN-MSxLZSWG*—GG.BTHR. T L.
o ! N
1> T e Higm
£ B View = T8R The Dfmw Plane
3= s ]
g ) 206 HIV6 =
41[100+0.02] P
pu
Esi‘z)fji 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200
L 463 | 513 | 563 | 613 | 663 | 713 | 763 | 813 | 863 | 913 | 963 | 1013[1063 | 1113 | 1163 |1213 | 1263 [ 1313 | 1363 | 1413 [ 1463|1513 | 1563
A 100 | 50 [ 100 | 50 [ 100 | 50 [ 100 [ 50 [ 100 [ 50 | 100 | 50 | 100 | 50 [ 100 | 50 | 100 [ 50 [ 100 | 50 [ 100 | 50 [ 100
M 2 3 3 4 4 5 5 | 6 6 7| 7 8 | 8 9 9 [ 10 10 1 | 1|12 ]12] 138]13
N 8 [ 10 [ 10 [ 12 | 12 [ 14 | 14 [ 16 [ 16 | 18 | 18 | 20 [ 20 | 22 [ 22 [ 24 | 24 | 26 [ 26 | 28 [ 28 [ 30 | 30
p 200 | 250 300 | 350 | 400 | 450 | 500 | 800 | 550 | 600 | 650 | 700 | 750 | 850 | 900 | 950 | 1000 1050 | 1100 | 1150 | 1200 | 1250 | 1300
\ KG 6.34 | 6.70[ 7.06 [ 742 | 7.78 [ 813 | 849 [ 8.85 | 9.21[ 9.57 | 9.92 [ 10.28[10.64 | 11.00 [ 11.36 [ 11.71] 12.07[ 12.43 [12.79[ 13.15[ 13.50[ 13.86 14.22j

" BSi Unit: mm\
) menti vonnonsn [ ]

L+3
BERERE194 aBHITRE
Onigin of actuator:194 Stroke 169
BEMAIBR: 80.75+ 1 2015 TBEABR67 11
Mechanical limit:89.75+1 95 Mechanical limit:67+1
60
[T Al T 102 T
4 O
s
s o ~|
| fiomolSs alcmol o o
249 6 H7T 10, 8-M6 x1.0 V17

4 M*100 A __46 A-AView
s ‘ N-M8x1.25 ¥ 16+ @ 6.8 THR. L. 120
| — [60£0.03 60 |
!
i 7 18R HHE .,y 7
gg Ay ,é o - | The Datum Plane I%%
oS 206 HIV6 = [[M8x1.25916 ]
° 4110020.02 P
3
.
ﬁsasz 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200
L 463 | 513 | 563 | 613 | 663 | 713 | 763 | 813 | 863 | 913 | 963 | 1013|1063 | 1113 [ 1163 [1213 | 1263 [ 1313 | 1363 | 1413 | 1463|1513 | 1563
A 100 | 50 [ 100 [ 50 | 100 [ 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 [ 100 [ 50 | 100 [ 50 [ 100 | 50 [ 100 | 50 | 100
M 2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10 | 10 [ 11 11 12 [ 12 | 13 | 13
N 8 10 [ 10 | 12 [ 12 | 14 | 14 | 16 | 16 | 18 | 18 | 20 | 20 | 22 | 22 | 24 | 24 | 26 | 26 | 28 | 28 | 30 | 30
3 200 | 250 | 300 350 [ 400 | 450 [ 500 | 800 | 550 | 600 | 650 | 700 | 750 [ 850 | 900 | 950 [ 1000 1050 | 1100 [ 1150 |1200 | 1250 [ 1300
\ KG 6.34 | 670 7.06 | 7.42 | 7.78 [ 8.13 [ 8.49 [ 8.85 | 9.21 | 9.57 | 9.92 [ 10.28] 10.64 | 11.00 [ 11.36 [ 11.71[ 12.07 [ 12.43 [12.79 [ 13.15 | 13.50] 13.86 14.22J

1 7 1 www.cf16.com




CFA12 E##/1-axis

BB A R

Built-in Guideway

R ERE)

Belt Drive

> >

AS A3
BELATIIEEATH
Motor Left Lower Side / Motor Right Lower Side
/ H H EﬁUnit:mm\
() maETs oo romesie [o] ] oms
CAD CAD
L+3
B RER194 K2
byygﬁdi‘ir 194 ﬁgfgkj—ek 169
i AR 2015 AERABER67+1
%émmﬁﬁ.&ggfp ] Mechanical limit:67:1
=] - 60
o], 152 152 T
3 @{ I°|
ool j-m] O o
2-@6H7T 10 \.8:M6x1.07 17
120
— > -
A o LI The Datum Plane
== @[
8 1 M*100 46 oy
\-/ ew
| N-M8x1.257 16+06.8 THR. L. 120
T 602005 60
5 ool
a5 BVen A H3R -
SO | | The Datum Plane
o 20 6 HTV6 ==y —
2 41]1000.02 p
==
ES??E:I(TJE 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200
L 463 | 513 | 563 | 613 | 663 | 713 | 763 | 813 | 863 | 913 | 963 | 1013|1063 | 1113 | 1163 | 1213 | 1263 | 1313 | 1363 | 1413 | 1463|1513 | 1563
A 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100
M 2 | 3 3 4 4 5 5 | 6 6 7| 7|1 8|38 9 9 [ 10| 10| 11 [ 11| 12 [ 12| 13 | 13
N 8 | 10 | 10 | 12 | 12 | 14 | 14 | 16 | 16 | 18 | 18 | 20 | 20 | 22 | 22 | 24 | 24 | 26 | 26 | 28 | 28 | 30 | 30
p 200 | 250 | 300 | 350 | 400 | 450 | 500 | 800 | 550 | 600 | 650 | 700 | 750 | 850 | 900 | 950 | 1000] 1050 | 1100 | 1150 | 1200 | 1250 | 1300
\ KG 6.34 | 6.70| 7.06 | 7.42 | 7.78 | 813 | 8.49 | 8.85 | 9.21 | 057 | 9.92 | 10.28] 10.64| 11.00 | 11.36 | 11.71] 12.07 [ 12.43 [12.79 | 13.15 | 13.50 13.86 14.22/
/ H H Eﬁunit:mm\
c ) EATIT Motor Right Lower Side ZD] 3D
CAD CAD
L+3
BERRR194 BRI
Onigin of actuator:194 Stroke 169
i AR BEMAIBIR: 6711
'%gmwﬁtﬂéﬁé 7859;175 1 Mechanical limit:67+1
v v v
.
5 5 5
2067 10H 8-M6x1.07 17
]
The Datum Plane
41 M*100 A _46 )
8 n-MBxi1257 16+ @ 6.8 THR, | L. T
s 5 s ~ =< [60£0.03 60 ]
o oo >
= B EN P _Vy
8 B View TheDamelane I%//
S || { (2 =
2 206 HIY6 == [[M8x1.25%16 ]
° 100+0.02 P
450 500 1000 1050 1100 1150 1200
C 463 | 513 | 563 | 613 | 663 | 713 | 763 | 813 | 863 | 913 | 963 | 1013|1063 | 1113 | 1163 [ 1213 | 1263 | 1313 | 1363 [ 1413 | 1463|1513 [ 1563
A 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100
M 2 3 3 4 | 4 5 5 | 6 6 77 8 | 8 9 9 | 10 [ 10 [ 11 | 11 [ 12 [ 12 | 13 | 13
N 8 | 10 | 10 | 12 | 12 | 14 | 14 | 16 | 16 | 18 | 18 | 20 | 20 | 22 | 22 | 24 | 24 | 26 | 26 | 28 | 28 | 30 | 30
P 200 | 250 | 300 | 350 | 400 | 450 | 500 | 800 | 550 | 600 | 650 | 700 | 750 | 850 | 900 | 950 | 1000| 1050 | 1100 | 1150 | 1200 | 1250 | 1300
K KG 6.34 | 6.70| 7.06 | 7.42 | 7.78 | 8.13 | 8.49 | 8.85 | 9.21 | 9.57 | 9.92 | 10.28] 10.64 | 11.00 | 11.36 | 11.71| 12.07 | 12.43 [ 12.79 | 13.15 | 13.50 | 13.86 14.22j

173

www.cf16.com




=)
1 axis
CFA

& F 61 —iR/MBR i | BE/ SRR | /B RE | ERERRE | —R/BFRE | R/ REXR | BE/BFH | RE/ RERR
Application CFG/CFY CFA/CFB CFK CFM CFs CFT CFE XYG/XYS/XYT| Reference

174

A% 400-716-8787 |
/
www.cf16.com

GREMRISELR « AR

Toll-Free Number




